Reg. No.:

D 153 Q.P. Code : [07 OPT 01]

(For the candidates admitted from 2007 onwards)
B.Sc. DEGREE EXAMINATION, DECEMBER 2010.
Firat Year
Partlll — Optometrics
GENERAL ANATOMY

Time ; Fhreciours Maximum : 100 marks

Newt labelled diagram must be drawn wherever
necessary.

Answer ALL questions.
SECTION A — (20 x 1 = 20 marks)
Choose the correct answer :

1.  Lesion in PONS may produce the syndrome called
(a) Weber's Syndrome
(b) Medical Medullary syndrome
(¢) Raymond's syndrome
(d) Horner's syndrome.
2. The example for flat bone is

{a) Scapula (b) Femur
(¢) Vertebrae (d) Maxilla



Dangerous area of scalp is

(a)

Connective tissue

(b) Losse Aereslartissue

{c) Pericranium

(d) Aponeurosis

The nerve which supplies stylohyoid musele is
(a) Mylohyoid nerve

(b) Anterior belly

(¢} Facial nerve

(d) I* cervical spinal nerve

The length of the naso lacrimal duct is

(a) 16 mm (b) 15 mm

() 28mm (d) 18 mm

Absence of sweating on face and neck is ca g
(a) Anhidrosis (b) Miosis 6“
(¢) Ptosis

(d) En%{

The example for condyloi §L )
(a) Temperomandibu

(k) Elbow joint
(c) Sternoclavicular joint
(d) Shoulder joint
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Thrombosis of anterior spinal artery causes

(a)
(b)
(¢} Medial medullary syndrome

Lateral medullary syndrome

Weber's syndrome

(d) Syringomyelia

Boxer's mu @
(a) Deltoja-muscle

&@iﬁepa muscle
Q Brachialisis

R

11,

10.

Serratus anterior muscle

Musician's nerve 18
(&)
(b)
(¢) Median nerve
(d)
The length of the cartilaginous part of Auditory
tube is
{a) 24 mm (b)
(c) 20 mm (d) 26 mm
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Ulnar nerve

Radial nerve

Posterior interosseous nerve

22 mm




s 5

13.

14.

15.

16.

Round window of tympanic cavity is otherwise
called as

(a) Fenestracochleae (b) Fenestra vestibuli
(c) Base of stapes (d) Vault of the stapes

Coverings of testis includes following except
(a) Cremarteric fascia
(b) Tunica vaginalis
(¢) Tunica albuginae
(d} Tunica vasculosa

-

The Longest cutaneous nerve of the body is
(a) Radial nerve {b) Saphenous nerve

(¢) Femoral nerve (d) Ulnar nerve

The diaphragm separates the base of left l

from the following except &

(a) Pancreas (b) Stomach
(¢) Liver (let lobe) (d) Splee
Branches of Arch of Aorta\ing —:iea following

except
(a) Brachiocephali @
(b) Rt subeclavian
(¢) Left common earotid
(d) Left sub clavicular
4 D 153

3.

17.

18.

(\cﬁ\

19,

20.

Muscles forming pelvic diaphragm is
(a) Levator Am

(b) Gluteus maximus

(c) Transverse abdominis

(d) External oblique

The nerve s the sartorius muscle is
(a) I nerve

moral nerve
Inferior glutesl nerve

Scintic nerve

The longest cutaneous nerve of the body is
(a) Femoral nerve (b) Obturator nerve

(¢) Saphanous nerve (d) Sciatic nerve

The most commonly injured nerve of lower limb is
(a) Tibial nerve

(b) Lateral plantar nerve

() Maedial plantar nerve

(d) Common peroneal nerve
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21.

22.

23.

24.

(a)

(b)
(a)

(b)
(a)

(b)
(a)

(b)
(a)

(b)

.

SECTION € — (b x 10 = 50 marks)
SECTION B — (5 x 6 = 30 marks)

Long questions.
Short notes.
26. (a) Write about cells, fibres and functions or
Functions of the skin. connective tissue,
Or Or
Classification of synovial joints. ®) ﬁg%d’m’ﬂy ;2‘;‘;;:;‘3;‘:};}*““‘5] syndrome
Parts of the Limbic systom. f‘ﬂ of superior mediastinum and
e mediastinum.
K \@
Or
Dislocation of shoulder joint. N (\ Write the differences between jejunum and
) ileum.
Nerves related to Psors major. 6\ .
\ 28. (a) Write the parts of Uterus, supports of uterus
Or and causes of uterine prolapse.

Branches of abdominal aorta. g Or
6 (b) Write briefly about structures in the roof of
Branches of Internal iliac Q the femoral triangle and contents of femoral

triangle.
Saphancous nery $ 29. (a) Branches of Internal and external carotid
artery.
Deltoid u@@u of Ankle joint. Or
1 (b) Branches of Glosso pharyngeal nerve and
branches of ragus nerve.
Structures that ¢ross Pelvic Brim. . D 153

6 D 153



(a) Structures that forming boundaries of
popliteal fossa and structures contained in
popliteal fneaa.

‘Write briefly nl:nmt constituent fibres of -
superior cerebellar peduncle and inferior

cerebellar peduncle.




Reg. No. :

D154 Q.P. Code : [07 OPT 02]

' (For the candidates admitted from 2007 onwards)
| B.Sc. DEGREE EXAMINATION, DECEMBER 2010,
First Year
Part 11l — Optometrics
GENE PHYSIOLOGY

Time ; Three hc)no Maximum : 100 marks
6\ * Answer ALL questions.
. (\ SECTION A — (20 x 1= 20 marks)

. 6@5&1&(:1: the most appropriate answers from the answers
given,

(a) thrombxytspenia
(b) amnaemia

(c) heuspenia

(d) leucocytosis.

g 1. A condition with decreased number of platelets in
\)6 bleod is known as

2. The specific Gravity of whole blood is
(a) 1.0556 = 1.060 (b) 1.028-1.032
(©) 1.60 - 1.065 (d) 1.032-1.036.




The rate of Lymph flow is
{a) 0.5-1ml/minute
(b) 1to 1.5 ml/ minute
(¢} 1.5-2ml/ minute
(d) 2to25ml/fminute.

Oxygen consumed by heart at rest 1s
fa) 10 ml/ minute
{b) 20 ml/ minute
fe} 40 ml/ minute

(d) 30 ml/minute.

Vitamin ‘C’ deficiency causes
(b) pellagra

(d) acuf*v}r. GAQ

The length of the large intestine X\,?
(a) 1.2 meters (b) 2 4

.ﬁ metres.

{a) xeropthalmia
(c) beriberi

(e) 1.5 metres

Temporary ce of breathing is known as
(a) tachyproea (b) aproea
(c) bradyproea (d) dysproea.
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10.

12.

13.

The normal glomerulas filtration rate is
(a) 110 ml/min {(b) 120 ml/ min
(¢ 210 ml/min (d) 130 ml/min.

Normal refractory function of the eye is
{a) emetropia (b) ametropia

{¢) myopia (d) hypermetropia.

A condition o@th}'midism appearing in adults
18

{a) cr&?m

(b) itre

Y @ﬁ\}xmdama (d) f:ymtnximsin.
‘\Q AIDS was first detected in

(a) USA (by UK.

(¢) India (d) Australia,

The pH of raginal secretion is

(a) 3.8 (by 4.8

(¢) 5.8 (d) .6.8.

Normal Plasma ACTH level is
(a) 0.1 m, unit/ 100 ml
(b) 0,3 m. unit/ 100 ml
{c) 0.5 m.unit/ 100 ml

(d) 0.4 m. unit/ 100 ml,
3 D 154




14.

15.

16.

17.

18.

The following signs are commonly observed in case
of Tetary except

(a)
(b)
{c) Erb'ssign
(d)
The length of the trachea is
(a) (b)

(e} 16cm (d) 22cm.

Oxygen capacity of 1 gm of Hb is
(8) 1.34mlo02 (b) 1.24mlo02
(¢ 2.14 ml 02 (d) 2.34 mlo02 .

Trousseau's sign
Chrostek’s sign

Babinski's sign.

12 cm 14 em

Normal WBC count is

{a) 3,000 -5,000/emm
(b) 5,000 - 7,000/ cmm
{¢) 5,000 - 8,000 /cmm

(d) 4,000 -6,000/em b

pH value of La retin is

(8) 7.25 ®) 7.35 '

{c)  17.45 (d}y 7.55. .
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20.

19. pH value of urine normally varies from
fa) 4.8-7.5 (k) 4.5-35.5
(¢©) 55-6.5 (d) 6.5-17.5.

end of deep expiration is known as
{a) - minimal volume

(b)

etemental volume.

. (d Qap
*
é\b‘smmmw B — (5 % 6 = 30 marks)

Or

Functions of Leucocytes.

22, (a) Function of Lymphatic system.
Or
(b) Functions of Bile,
23, (a) Functions of phospholipids.
Or
(b) Functions of bones.

Chemical composition of the muscle.

The amount of air left behind in the lung at the

D 154




24,

27,

(a)

(b)
(a)

(b)

(a)

(b)
()

(b)
(a)

(b)

Deep Reflexes.

Or

Functions of thalamus.
Functions of Placenta.

Or
Functions of kidney.
SECTION C — (5 x 10 = 50 marks)

Long answers.
Funetions of blood.

Or

Functions of spleen.

Explain about basal metabolic rate. &g
Or \9

Write briefly about auri re‘% failure,

Write &b(‘.ll;ll‘. wom of skin,

Write in detail about mid brain.

6 D 154

Na

Write briefly about formation, composition
and absorption of C.S.F.

Or
Signs and symptoms of hyperthyroidism.

Write briefly about synthesis and actions of
adrenaline.

Or
Fu ncf&(ﬁahﬂgﬂm.

7 D 154
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(For the candidates admitted from 2007 onwards)

-'i:éﬁ'%ar'
G — Optometrics

&PIUS AND REFRACTION
-hﬂurn Maximum : 100 maﬂu

SECTION A— (

M‘ulﬁﬂh:..ahnilha.-.qnasﬁan-.withzm:@hm;.
Crystalline lens absorbs light rays shorter than
(1) 296 nm () 850 nm

(¢) 390 nm (d) 490 nm

The eritical angle refers to the angle of incidence

in denser medium corresponding to which angle of
refraction in the rarer medium is

(a) Lesathan 90°

®) 90°

(e} More than 90°

{d} Equal to angle of m-:idenae




In the media of the eye, highest refractive index is )
of the 7. An aphake weaving aphakic glasses will most

commonly notice

a) Corne Aqueous humor

(a) a ()  Aqueous hum (a) Pincushion distortion
(c) Lens (d)  Vitrous humor (b) Spherical aserration
The visual axis of the eye meet the retina at a ' (¢) Barrel distortion

point which

(d} Chmma" averration
(a) Coincides with the forea centralis

B, Hecau m.la of least diffusion the distant
(b) In nasal to forea centralis mparatively good in

‘
(e) 1s nasal to optic disc & Simple myopic astigmatism
. 0

(d) Is temporal to forea centralis E 6\ (b) Compound myopic astigmatism

The most common types if refractive error is 0 () Mixed astigmatism
R ————l (&) Mydpis Ag (d) Compound hypermetropic astigmatism
) , b 9. Causes of premature presbyopia included all of the
{c) Astigmatism (d) None of following except
One millimeter increase in th%u& of curvature (1) General debility
of corner leads to hyperme 1 (
(b) Primary open angle glaucoma
(a) 3D 4D
(¢) Uncorrected myopia
fc} &D {(d) 6D
2 D 155 (d) Premature sclerosis of the lens

3 D 155




10.

1L

12,

13

Bilateral paralvsizs of accommodation ean eccur in
patient with

(a)

{c) Malaria

The most long acting cycloplegir drug is |

(by TB

(d)

Diphtheria

Mumps

{a) Atropine (b) Tropicamide

(¢) Cyclopentolate (d) Homatropine

All of the flowing are frox about autorefractometry
except

(a) Quick procedure

(b) Gives information about spherical and

(c)
(d)

an
(a)
(b)
(c)
(d)

cylindrical error

Measures inter papillary distance

\6@
Subjective verifications of refracti

N
s )

The principle of the stenopaeic é&'\)ﬁt 18 based

Astigmatic fan $ ; ]
The circle of ] ﬁusjnn
Pin hole phenomenon

Strum’s conoid

4 D 155

A\

14. Excessive accommodation causes
{a) Hyper metropia
(b) Myopia
(¢) Pseudomyopia
(d) Peeudo hypermetropia

16. Connect lensgs st used in

(a) Hi Qupia

*

E\@z‘?agulﬂr astigmatism

(c) Aphakin

(d) Regular astigmatism
16.  Hard contact lenses are made of
(b)
(d)

17. A difference in the size of two retinal image which
can be well talented 18

(a) HMMA PMMA

() Silicone Glass

(a) 2% (b)y 3%

(e) b% (d) 10%

b D 155




15.

19,

20.

21,

22.  (a) Classification of Regular astigmatism.

Sturm's conoid refers to configurations of the ravs

refracted through

(a) Concave spherical surface

(b) Convex spherical
) Tonie surface
() Irregular surface

In an aphakic eye posterior
back of cornea is asont.

fa) 23 nm (b)
(e) 31 nm (d)
At birth eye is usually

(a) Hypermetropic (b)
() Emmetropic (d)

SECTIONB— (b x 6=

Short notes :

(a) Sturm’s conol @

(b) Chromatic aberration.

Or
(b) Refraction of aphakic.
23. (a) Mechanism of accommodation.
Or
(b) Cyecloplegic drugs.

24,  (a) Anisome
focal point from the

58 m | ‘@ﬂmnia.

Jackson's crossed eylinder.

\6@ o

(b) Investigation of heterophoria,

Myopic Ag SECTION C — (6 » 10 = 50 marks)
z‘mise§ Kssay :
X' 26, (a)

Define hyper metropia, clinical types, signs
and symptoms and treatment of hyper
metropia,

O

2] nm

Or

(b) Write in detail about low vision aids.

D16s 7 D 155




) Write in detail about objective and subjective
verifications of refraction.

Or
(b) Various physiological optical defects in eye.

" Various pathological optical defects in eye.
| or

What is the need of accommodations and
~ yarious anomalies of accommodation?
) What are the special types of spectacles?

. Or

Various optical applications of contact lens
advantages and disadvantages of contact lens. |

Define astigmatism clinical type and sign_
symptoms of astigmatism.




Reg. Now @ e 3. When the drug is introduced in the subarachnoid
space it is called as

s a
1} 164 Q.P. Code : [07 OPT 07] ) inteavenous (b) intraasticular
{For the candidates admitted from 2007 onwardas) (¢) intrathecal (d) intraasterial
B.Se. DEGREE EXAMINATION, DECEMBER 2010, 4. Parenteral administration includes following
except .
Second Year (a) sub ebus (b) intramusuilas
Part [11 — Optometrics (c Qﬂavamus (d) sublingual
g .
PHARMACOLOGY 5. aqueous preparation contmning insoluble
° terial for external application is called
Time : Three hours Maximum : 100 marks 6\0 ::1: ET: e o oot
otion
.
Answer ALL questions, \6 (¢) emulsion {d) solution.
SECTION A — (20 x 1 = 20 marks) ' g 6. m_:,tj hypertensive drug includes iolowing except
Choose the correct answer : 6 (a) methyldipa (h) basbitvrate
Principles of clinical drug evaluation tha m (c) reserpine () propranclol
dici .

mediang ie . 7. It is a congenital deformity in which long bones
() chnical pharmacology v sudimmefitary
(by drug Q\
(¢) pharmacy @ (a) iatrogenic disease
(d) pharmaco dynamics. (b) auts immune reaction

The drug example for alkaloid is () phocomelia

{a) 1insulin (b) morphine
(e} penicillin (d) mentol.

(d) hypersensitivity.

2 D164



10.

11.

"12.

Prevention of disease as well as prevention of
infection by chemical agent is known as

(s) chemoprophylaxis
{b) chemotherapy

(z) pharmacotherapy
(3"  pharmacokinetics.

[Drugs blocking nerve conduction when applied
locally 18

(a) general anaesthesia
(b) local anaesthesia

\¢; spinal anaesthetics
(d) regponal anaesthetics.

Antidstes for narcotics

(b) nestigmi \)

(d) anale@a.

(a) nalorphine

{¢) witamin K

Atropine 1= a drug of

(a) miotics @ nti glaumma agent
(¢} mydriatics alpha blocker.
Transfer of a drug from the site of administration
to the blood is known as

(a) absorption (b) solubility

{c} ‘Thydrolysis {d) dilution.
3 D 164

&@\)

‘6\&"

6@\ ‘

13.

14,

16.

17.

Druge which improve quality and quantity of RBC

is

(a) haematinics ()

(g) emetics (d)

Drugs

(@) giietice )
anorexiants ()

Nystatin is example for

plasme substitutes

antiemetics,

diveretics

detergents.

emetica

antimalarial.

Drugs which promote protein anabolism is

{a) antiviral

(b} anti emetics

(¢) anti fungal antibiotics
(d) antimalarial.
Chloroquine is example for
(a) antihelmintics (b)

(¢) antibiotics (d)
(a) anabolic (b)
(c) antibiotics (d)

4

detergents

antiviral agents.

increase the secretion of urine

D 1e4



I8. Drugs used to suppress immune reaction are
called as <22, (a) Dangers of drug therapy.

(@) Immuno suppressive agents Or
() Im !
) mune agents (b) Routes of excretion of drgus.
{e)  Antiseptics
@ Disinfoctants. 23. () mﬂﬂ&ﬂn of anti rhumatic drugs.
19. The measure of the tendency of ‘the drug to O .
combine with the receptors is N % JToxicity of antidepressants.
A 1 o .
(a)  agonist (b) affinity . @\a} Drugs used in urinary tract infection.

{e)  anta gonist (d) efficacy.
H 4 .

20.  Agents which promotes skin pi ion i
promotes skin pigmentation is \)\ (b) Uses a contra indication of purgatives.

(a)  demelanising agents
(b)  cleansing agents EA 256. (a) Uses of cortisone.
Or

(e}  melanising agents \\)

(d) debridement agents,

SECTION B — - }&
NB—(5x86 @ SECTION C — (5 » 10 = 50 marks)
Sh
ort no@ Long questions.

21. (a) Sourcesof drugs. )
o . 26. (a) Factors influencing drug metabolism.
r .

Or

(b) Classification of analogesics.

(b) Metabolic functions of Vitamin C.

{b)  Uses of prodrugs

L

D 164
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21

28.

29.

()

(b}

{a)

(b)
(a)

(b)
(a)

Factors determining drug action.
Or
Modes of administration of drug.

Anti glaucoma agents.

Or
Respiratory stimulants.
Classification of antiseptics.

Or
Claseification of antiepileptic drugs.
Drugs used in mental disorders.

Or Q\)\
(b) Effects of digitalis in congestive @%

failure.

#\“
o

7 D 164



3,  Protein content of an egg is

Reg. No. i i @ Adpm & 6gm
D 158 Q.P. Code : [07 OPT 06] (cy Bgm (d) 10gm.
(I"ar the candidates admitted from 2007 onwards) q. Caloric requirement for the sedentary male
worker is

I3 5c. DEGREE EXAMINATION, DECEMBER 2010.

(a) 2400 Ls@qay (b) 2300 KCal/day
Second Year (e) @ alfday  (d) 2700 KCal/day.

Part 111 — Optometrics 5. " ®Y'E!quimm{anl; of vitamin 'C' for an adult 1=
NUTRITION . Qélu} 30 mg () 40 mg
\ (e} BOmg (d) 60 mg.

Time - Three hours Maximum ; 100 marks N 6@

(i Daily requirement of caleium for the following
women is

SECTION A — (20 = 1 = 20 marks) &g (a) 0.5 gm (hy 0.6 gm

Choose the correct answers | \9 f¢)  O.Bem (d) 1gm.

Calorie requirement for a prcg@m; en per day (5 Iron requirement for the pregnant women is
- {a) 40 mg/day (b) 20 mg/day

i 2300 KO Z

(a) KCal 0 Kl (©) 30 mg/day (d) 50 mg/day.

ey 2700 KCal 1 2800 K(Cal

8. The milk production by the lactating mother 18
(a) 650 ml/day (b 750 ml/day
() 850 mliday {dY 950 ml/day.

2 Daily requirement of Vitamin A for Infant is
() 300 —400 IV (b) 300 —600 IV
fey 400 — 600 IV (d)y 7501V,
2 D 158



10

11.

14.

The concentration of protein in c¢olostrum

(a) 5.5% (b) 6.5%

{¢) 7.5% (d) 8.5%.

Applied Nutrition Programme was started in the
year
(a)
(e

1963
1984

1973
1953,

(k)
(d)

Specific gravity of saliva 1s

fa) 1.004-1008 (b)) 1.002t01.004

() 1.004 = 1.006 (d) 1.006to 1.010.

16 ounce 18 equal to &
(a) 1 dram (b) 1 pint 5\})

(e)y 1 gallon (d) 6

1 pound.
>$ "
National Goitre Control @ me was started
in the year §
(

(a) 1942
() 1962 (d)

1952

1972.

The amount of sugar in cow's milk compares to
human milk 1s
low

(b)
(d)

high

none of the above.

La)

(e} equal

3 D 158
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LG

18.

19,

20.

\@ 34 pm
oS

The daily requirement of iron for the old people is

(a) 20 mg (kY A0 mg
{e). 40 mg Al mg.
Daily re @nt of potassium 18
(a) § 2-4 gm
(dy 2-3 gm.

Inereased caleium level 15 called as

(1) hypokalaemia (b))  hypoealeaemin
(¢) hyperkalaemia (d) hyperealeacmn
Daily requirement of pyridoxine is
(a) 2mg {(by 4 mg
(c) Gimg (dy 8mg
Chemical name of Vitamin By (Thiamine) s
(a) aneurine ()  fDavone
(e} caleiferal {d) tocopherol.
Vitamin 3 is chemically known as
(a) retinol (b} alinine
et caleiferol (dy pymdoxine.

4 D158



EN S

SECTION B — (5% B=40 marks) S Bt T

Shert notes on -

L)

(hy

(a}

il

(a}

i by

fa)

(b

ia)

(hi

Long questions :

Classification of protein,
26. (a) Classification of carbohydrates,

Or
O

Classification of fat (h) Funuurces of carbohydrates.
JAB Lo ol Tat.
(i 27, {E?\®pﬁlumﬂntary feeding programme

. Q

Functions and sources of protein.

Oy

Funetions of fat.
Funetions and sources of vitamin A ‘\6 () Methods of cooking,

- g\> 28, () Cooking Tip — Write in detail.
Sources of Vitamin By &
Oy

Curative effeet of B, \9
(b Write about functions of Saliva and write
Or $ . briefly about funetions of stomach.

Types of Diet =
@ 290 (a) Write briefly about preparation of Egg.
Factors affect ng cal®um absorption

Or
Oy

. : (b)  Write briefly abiout weaning.
Functions of water,

’ s i D 158



30, (a}  Write about Sources, Funetions, Daily
requirement and. Deficiency diseases of
Vitamin Bis,

Or

{b)  Write about Sources, Functions, Daily
requirement and Deficiency diseases of
Vitamin .

D 158
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D 156

Time

| &=

Reg.No.: .

Q.P. Code : [07 OPT 04]

(For the candidates admitted from 2007 onwards)
B.5e, DEGREE EXAMINATION, DECEMBER 2010.
Second Year
Part [11 — Optometrics
OCULAR ANATOMY

Three hours

Answer ALL questions.
SECTION A — (20 x 1 = 20 marks)

veball is

Choose the correct answer ©

The antero posterior dinmut$
{a) 23 mm @‘_ mm
@d?

The parts of the sclera includes following except

vy 235 mm 24.5 mm

(n) Limbus (b) Episclera

() Selera proper (d) Lamina fusla

FTRP——

Maximum : 100 marks

w& number of rods are about

Choroid is

(a) wvascular layer fb) muscular layer

(¢) membranous layer(d) crystalline layer

The outer vessel layer of choroid 1s
(a) sattler (h) chorio-capillaries
{¢)  hal b(o

(d) basal-lamina

12. B million (b)  11.5 million

(e} 12 million (d)y 10.5 millien

The nerve supply to the conjunctiva is by
{a) 2nd cranial (b) 3rd cranial

(¢ Hth cranial (dy 4th eranial

The length of the optic Foramina is
() 4-10 mm (1)
() B-10 mm (e}

B6-85 mm

10-12 mm

The nerve supply of the extraocular muscle is
mainly by
(b) 7th eranial

(d) 9th eranial

{a) 5th cranial
{¢)  8rd cranial

2 D 156



10,

11

14,

13

Haszal-Henele's bodies present in &
(a) Endothelial layer

(b) Descemet's membrane

(¢) Substantia portia 15.

{d) Bowman's layer

The thickness of the Bruch's membrane is

(n) 3w by 5 u

{e) 6 u (d) T u

a

The eircular diameter of the cornea 1s

(0  10.6mm by 11.6 m’r{'
() 125 mm (d) 13,5@
*

Horizontal diameter of the Ilis

(a) 23 5mm @ 22.5 mm e
() 24. 5 mm {d) 255 mm

Middle wvascular coat of eyeball consists of

following exeept 19,
{a) choroid (b) ciliary body

(¢) iris (d) retina

3 D 156

° @dﬁu blood supply of the eye is by
.
&Q

Volume of the vitreous cavity 1s

(a) 3.5 ml () 4.5 ml
(e} 5.5 ml (dy 6ml
The ﬂnnjucl;i@m corneal junction
{u) p@@ () bulbar
o nix (d) limbal

(n) retinal nrtery (b) opthalmic artery

() lacrimal artery  (d) ciliary artery

The cornen consists of

{a) b6 layers (by 4 layers
{c) 6 layers (d) 3 layers
Selera has

{a} 3 parts (hy 2 parts
{c) 5 parts {d} G parts

The volume of the orbit 1s about
{a) 20ml b} 40 ml

(e} 50 ml (dy 30 ml



20;
ta)
(o)
21 (i)
(b)
22, (@)
(b}
2% (n)
(h)
24, (a)
(b)
23, ifa)

()

Formation of aqueous humour ig by

Ciliary muscle
Chorod

(b) Ciliary process

(d) Retina

SECTION B — (bx6=30 marks)
Short Nates,

Parts of conjuctiva.

Or

Actions of extraocular muscles.

The contents of the orbit,
Or

Crystalling lens.

Structure of the Iris.
Or \)

Glands of the Eyelid, \

\ o

Limbus.

Functions of Neg.

The origin of eve,
Or

Structure of Selerg.

3 D 156

26.  (a)

28, ()
(b)
29, (a)
(b)
30, (a)
(b)

SECTION C — (6 x 10 = 50 marks)

Long guestions.

Write briefly about choroid.
Oy
bout ciliary body,
rite in detnil about chambers of the eve,
O
Regions of the retina,
Desgeribe about the museles of the eyelid,
Cir
Deseribe about the extra ocular muscles.

Write briefly about conjuctiva structun

blood supply and nerve supply.

Cr
Write in about blood supply of the eye.
Deseribe in detail about the cornea.

Oy

Write briefly about nerves of the eye.




Reg. No. :

D 160 Q.P. Code : [07 OPT 10]

(For the candidates admitted from 2007 onwards)
B.5c. DEGREE EXAMINATION, DECEMBER 2010.
Third Year
Part I1I — Optometrics
SYSTEMIC OPTHALMOLOGY

Time : Three hours Maximum : 100 marks

SECTION A — (10 x 2 = 20 marks)
Answer ALL questions.

1. Cornea xerosis is seen in

i @3\
of WHO classification of Xerophthalmia. \\)

2. Hyphaema, subconjuctival haem can be

due to deficiency of

3. Oral form of Vitamin Ai@——,

4. Deficiency of Vitamin

L

causes

corneal anaesthesia.

6 nge in refractive error.

Active infection of rubella is indicated by raised
levels of

Interstitial keratis is seen in

Angular conjunctivitis is caused by

Pseudo me@a conjunctivitis is caused by

ycaemia can  cause

retinopathy,

*
58\9 Flame shaped haemorrhage are commonly in
.

12,

13.

Cherry red spot is seen in
{a) CRAO {(by CSR

(e) Diabetes {dY Chorieretinitis

In Gout, there is abnormal accumulation of

Heerfordt's disease 1s seen in
(a) Gout (b) Leprosy
(¢)  Sarcoidosis (d) Tubercuslosis

2 D 160



14,

15.

16,

17,

18.

18.

Steven Johnson syndrome can be caused by
(a} Sulpha drug {b)
{¢) Both above (d)

Herpes simplex
None of above

Peripheral marginal keratitis seen in
(a) Fungal infection (b) Acanthoamoeba
it) Rosacia (d) Atopic dermatitis

Steven Johnson syndrome leads to
(a) Fungal infection
(b) Cicatricial conjunctivitis

&

@A@

{ Malignancy
{d} None of above

Bitemporal hemianopia i 13 un of
(a) Optic Tract \§ tic t‘:h::asma
(e)  Optic radiatio Optic nerve

Fapﬂlﬁedema\'@en in tracramil Tumor of all,
except

{a) Mid brain {b)* Cerebellum
(¢)  Oeccipital lobe (d) Medulla oblongata

Disc edema with macular exudates is
fa) Optic neuritis (b) Neuro retinitis
(¢} Chorioretinites (d) Retrobulbar neuritis

20.

6\@

21.

22,

23.

Inferior homonymous guardrantopia is seen in
(a) Temporal lobe lesion
{(b) Parietal lobe lesion
(c) tal lobe
alcarine fissure

SECTION B — (5 = 6 = 30 marks)

Answer ALL questions.
(a) Discuss a role of Vitamin A in ¢
physiology.
Or

(b) Discuss on various ocular manifretation
Vitamin deficiencies

(a) Write a short note on causes clinical featur
and treatment of acute conjunctivitis.

Or

(b) Write a short note on endophthalmit
prophylaxis and management,

(a) Discuss on classification and clinical featu;
of uveitis,

Or

(b) Differentiate between granulomatous an
non-granulomatous uveitis.

] ™ = M



(a) Write a short note on Steven Johnson 28. (a) Describe the characteristic and manager
of Proliferative diabetic Retinopathy.

syndrome,
Or Or
(b) Write a short note on various autoimmune (b) Discuss classification and complication
disorders affecting the eye, Proliferative diabetic retinopathy.
(a) Write a note on Foster Kennedy syndrome. 29. (a) Aiscuss Ocular manifestation of Tubercul
management.

- OO Or

(b) Draw a diagram of visual pathway and
Discuss Ocular manifestation of AIDS.

visual field defects. ‘\6 b
SECTIONC—(@x 10=80 arks) . (\6 30. (a) Discuss clinical features, classification
treatment of Optic Neuritis,

Answer ALL questions. @\
‘0‘\6 Or

(a) Describe WHO classification and preventio .
of xerophthalmia. (®) Describe Pupillary pathway and describe
abnormal pupillary reactions.

Or

(b) Discuss causes, clinical ’@;‘n and
cy.

management of Vitamin A

*
{a) Discuss causes of N tive conjuctivities

and their ciiniﬂa; res,
r

(b) Dircuss clinical feature, complication and
management of Toxoplasmosis chorioretinitis,

D 160 &
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Reg. No.: 3. As the water of hydration of a lens increases its
oxygen permeability

D 162 Q.P. Code : [07 OPT 12] _‘
(a) increases (b} decreases
(For the candidates admitted from 2007 onwards) (¢) remainssame (d) none of above.
B.Sc. DEGREE EXAMINATION, DECEMBER 2010. 4. As the lens thickness increases its oxygen
Third Year
ah (b) decreases
Part 111 — Optomerics '
. Jeiains same (d) none of above.
CONTACT LENSES
) . ntral dark area with peripheral bright green
Time : Three hours Maximum : 100 marks N d fluorescein staining indicates
SECTION A — (20 x 1 = 20 marks) . 6@ (@) flatfit (b) steep feit
Atiswer ALL quastions: 0\ (¢) ideas fit (d) none of above.
L Q) 6. Central bright g::em fluorescein staining with
L. RGP lens materials include & intermediate dark zone in lens fitting indicate
(a) PMMA \9 (a) fat fit (b) steep fit
(b) HEMA $ ‘6 (e} ideal fit (d) none of above.
(c) Silicone Acrylate @ 7. Over all domain of a soft contact lens 15
(d) None of above. $ (a) =HVID (b) <HVID
(e =HVID (d) None of above.

2.  Hydrogel malerials include
(a) PMMA (b) Silicone Aerylate
(c) Styrene (d) MMA-PVD.

8. Excessive movement of lens over cornea indicates
{a) flat fit (b) steep fit

(c) ideas fit (d) none of above.
9 D 162



10,

11.

12

13.

An example of extended wear lens with high water
content is

(a) (€Sl lens

(b) Softcon lens

(e} Hydrocurve lens
{d) Perma lens,
Percentage of water content in low water content
entered wear lens is

(a) 38 -45% (h)
fe) >60% (d)

45 — 60%
None of above.

technique in

{a) Aphakia (b) Pse udnphakwé

(¢}  Prebyopia Keratoco

Large lenticular lens can be tri
{a) Aphakia dophakia

{c)  Presbyopia f eratoconus.

An example of a theraputic contact lens is
{a) CSI lens

(b) Permalens

(¢} Hydrocurve lens

(d) Plano T lens.
3 D 162

14.

15.

*

17.

18.

Type A cosmetic contact lens is used for
(a) Oecclusion therapy

(b) Cosmetic enhancement

() Albinism
(d) Poly
Cle e with light brown tint is seen in

= type of cosmetic lens

6 A ) B
e\(\ @ D
6 16.
A contact lens is fitted with 3 point w%@o\

Ultrathin or membrane lenses are indicated in

(a) Epitheilal defeet

(b) Desmatocele

() Bullous keratopathy

(d)  All the above.

Endothelial pleomorphism and polymegathism 1s
seen mostly with use of

(a) PMMA lens (b) RGP lens

{e) Soft lens (d) All the above.

Use of homemade saline causes keratitic due to
infection with

(a) Aeanthamoeba (b) Pseudomonas
(¢) Staphylococeus (d) Streptococcus.
4 D 162



19,

20,

21.

22.

Polyvinyl alcohol is a . 23. (a)
fa) waiting agent
(b) cleaning agent

(b)

(¢}  enzymatic cleaner
{(d)  soaking solution.
Benzalkonium chloride is a

(b)
(d)

{a) Weeting agent Cleaning agent

%
‘\6 \ | 25. (m)

Answer ALL questions. 0

List the properties of an ideal cur@

(¢} Preservative Soaking solution.

SECTION B — (5 » 6 = 30 marks)

material \
Or $ ‘%
(b)  Write short notes o ﬂ&%lens materinls.
| $ 26. ()
(a) Explum fluorescern’ patterns in contact lens
fitting and clinieal significance.
G (b)
(b}  Write short notes on hard lens problems,

5 D 162

Write short notes on extended wear hydrogel
soft lens.

Or
Write short notes on extended wear rigid
lena.

H@n contact lenses he used for drug
0@1 ery?

Or

What are bandage contact lenses and Where
are they used?

Write briefly on conjunctival complications of
contact lens use,

Or
What is enzyme cleaning of contact lenses?

SECTION C — (6 x 10 = 50 marks)
Answer ALL questions,
Explain in detail contact lens materials

Or

What are the manufacturing techniques
involved in contact lens preparation?

6 D 162



27.

28

29,

30.

{a)

(b)
(a)

(b)

(a)

(b)

(a)

(b)

Explain fitting procedure of rigid contact
lens.

Or
Explain fitting procedure of soft contact lens.
Write briefly on extended wear lenses.

Or

Write about contact lens fitting in aslig
matism and aphelia.

What are the indications for use of
therapeutic contact lenses?

Or o g

Write briefly on indications,
techniques and complications
contact lenses, 6

What are the complicatiths dof contact lens
wear?

Write briefly on care of contact lenses,

i D 162
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Reg. NO. fiisiiii
D161 Q.P. Code : [07 OPT 11]
(For the candidates admitted from 2007 onwards) p
13.5c. DEGREE EXAMINATION, DECEMBER 2010. +
Third Year
Part 111 — Optometries 5.

OPTICAL INSTRUCTIONS IN OPHTHALMOLOGY
Tine : Three hours Maximum : 100 marks .
SECTION A — (20 x 1 = 20 marks)

Answer ALL questions.

*

O
O

Structures seen with indirect ophthalmoscope are
all expect

(a) Disc

(c) Iris vessesls

(b) Retinal vessels

(d) oraserrata

Yag laser is used for
(a) PCO
(&)  Trau
Imag@Qimct ophthalmoscope is
fteal, Inverted and magnified

(b) Cataract
icvatract (d) Paediatric catract

Virtual inverted and magnified
{e)
()

Direet Ophthalmoscope can used in the following

Real, erect and magnified

Real ,inverted and mimfied

| Hhwmnination in slit lamp are all except EA conditions except
() Ihrect focal 0 (a) I'.:}lauc:um-a ) .
| \ (b) Hypertensive retinopathy
(b)  Indirect 6 () Age related macular degeneration
() Retroillumination !$ N ()  Conjunictival naevus
() Indirect infoca 7. Indirect ophthalmoscope with +200D lens
procedure
4 90 1) 18 used for ) ) .
" " - (#) 1 % magnification (b) 2 x magnification
T t (b psterior Segmen i . - ;
(a)  Anterior segment (b) g (e) 3 magnification (d) 4 x magnification
fey  1OP {d) Duct examination

P D 161



9,

i1,

Distant direct ophthanmoscope s used for g
except

(a) To see opacity in refractive media
(B}  To diagnose dig betic retinopathy
e} To deteet retinal microaneurism

(d) None of the above

Specular microscopy is used to study
ta) - Corneal epithelial cells

(b)  Cornen] endothelial cells

(€} Conjuntival epithelial cells A
(d}  Retinal epithelial cells \)6
OCT is used 1o study é\'

{#) Macula (b) Re a}e rs

(¢} Both of the above & ne of the above

OCT stands for

(a)  Optical circuar lomography
(b}  Optical coherence topograpy
e} Optical coherence tomography

(d)  Optical coherence test
3 D 161

2. ARMD stands fop _—

13, Instrument used to measure power of spectacle |
known ag

(a) Le naomater (b)  Fogimeter

fe) Vertnm@ (d)  All of the above
14, humm@n meter - all are trye except
used in ophtahalmje practice

11’*’(&‘}
&\ lerocompuler are inbuilt o mathematieally

process the daty associated with  1nw.

*
\Q measurement

fed It requires to hp kept at spectlie témpera e
condition

() Exummple js humphry long analyzep

15. Operating microscope - Basie system are all exeep

(a)  Observation syaten

by Mumination avatem

e} Mechanica) support system
(d)  Power supply

16, Ophthalmip uperating microscope is used 1

(@)  Retinal su rgery

() Pteviygium ay tograf]
(¢} Squ Int surgery

(d) Al the above

4 D 161



19,

I3 sean can be uged for

(a)  Intraocular foreign body

thl  10L position

(e)  Extraccular muscle insertion

tdy Al the above

Total RIY is seen in B scan as
(ny  Funnel shaped RD

(hy  Cup RD

() RD's eannot be visualized

(e  None of the above

[OL power caléulation requires
(a) Keratometer
(b  Orbscan

(¢) B sean

(1) Automated lensome

Perimetery is used for

(a)  Assessing visual field

(h)  Assessing visual acuity

(¢} Can be used for 1OL power
(d)  None of the above

B

D 161

21.

23.

(a)

SECTIONB — (5 x6=130 marks)
Answer ALL questions.

[hseuss the opties of keratometer.

Oy

ib) f@a the clinical applications of slit
? Which accessory devices can be used

(b

(a)

(b)

C,nth shit lamp?

What are the advantiiges and disadva ntages
of indirect ophthalmoscopy?

Oy

Discuss  the  (tech mgue  of

ophthalmoscapy.

indirect

Discuss  optice  and technigques  of
interforometry.

Or
Bxplain the advantages and disadvantages

of pachymetry,

Discuss  the elinical

lensemeter.

applieations  of

Or
Discuss the clinical applications of operating
microscope.

6 D 161



oy

n

(a)

{1

{a)

i)

(a)

(b}

Write the clinieal applications of B scan in
ophthalmic practice,

Oy

Discuss the advantages and disadvan tages of
B scan.

SECTION C — (5 % 10 = 30 marks)
Answer ALL questions.

What is gonioscopy? Discuss ita principle
with type. Write briefly on advantages and
disadvantages of gonoscape,

{r

What 15 specular microscopy  explgi
optics briefly? What is the method of
and clinical uses of specular mi

What is  the technique i indirect
ophthalmoscope and o@ Hiscuss  briefly
on - optics, MMN advantages and

Or

disadvantapes t ophthalmoscope.

What is ophthalmoscopy? Discuss the optics
of direct ophthalmoscope. Com pare direct vs
mdirect ophthalmoscope.

|

D 161

28.

a0

()

(b)

(b)

()

(b)

If{i&cusg the optics of pachymeter with
diagram and mention its uses, applications.
advantages and disadvantages,

Or

Hﬂ‘“@j‘ 18 useful in todays practice?
n its clinieal applications, advantages
apddisadvantages.

. .
Draw a schemmaties diagram  depicting
components  of ohservation system  of
opérating microscope. Briefly discuss the
tomponents of operating microscope.

Oy

Discuss the optie system of lensometer und
mention about its clinical use advantages
tind disadvantages,

Discuss briefly on B-sean, its prineiple and
tts clinical application,

r

Discuss briefly on 101, power caleulation

b D181



4,
D163 Q.P. Code: [07 OPT 13]
(For the candidates admitted from 2007 onwards)
B.Sc. DEGREE EXAMINATION, DECEMBER 2010.
Third Year
Part IT1 — Optometrics
5.

Time : Three hours

Reg. No.:

PHYSICAL AND GEOMETRIC QOPTICS
Maximum : 100 marks
SECTIONA —(20x1=20 marks)

Answer ALL the questions, 0‘\ 66\

Visible spectrum of light is from
(2)  200-400nm  (b)

(¢) 300 600 nm (d) 500 - 800 nm

Electromagnetic theory was proposed b ‘6

(a) Newton ) H

(e} Maxwell (d i i 7
Quantion theory was proposed by

(a) Newton (b) Huygan.s

e} Maxwell (d) Einstein

400 - 700 m\\)dﬂg "

Phenomena of interference and diffraction is
successfully explained by

(a) corpuscular theory

(b) wave theory

(c) electromagnetic theory
(d) quan ry

The ﬂac:*n of an image formed by & plane mirror
s ﬁéi‘

&8 e
. (\ same size as object

(b) wirtual
() laterally inverted
(d) all of the above

Distance of principle foeus from the pole of the

spherical mirror is the
(a) normal (b) principle axis

{¢) focal length (d)

radius of curvature

A real inverted image equal to size of object is
formed by a concave mirror if object position is
(a) At infinity (b) Beyond C

(¢) A+C (d) A+F

2 D163



8.

o

10,

11,

Principle of total internal refraction is used in
(a) fibreophe lights

(b) applanation toncmeter
{e)  cronioscope

{(d) all of the above

The best example of minimum determinable of

hyperacuity is

(@) Snellen's (b) Landolts

(¢)  Vernier {(d) Gra tings QO\

An example of detection acuity test is EA
(a) catford drum test \9

(b) snellens E chart

ss *
(c) Lighthouse test @

(d) Domino’s ¢

Each letter of the snellene chart subteads an angle

of at the nodal point of the eye
(a) 5 min (b) 10 min
(€} 1 min (d) 15 min

3 D 163

12. For testing distant visual acuity the distance

which the patient is seated from snellens char

(a) (b) 5m
(@& (d) 6m

‘Qngle formed between the visual axis and |

WO
\(\6\

papillary line is

(a)  Angle alpha (b) Angle Beta

(¢) Angle kappa (d)  Angle delta

One dioptre is the reciprocal of focal leng
expressed in g

(a) centimeters (b) meters

(¢) inches (d) degrees

Angle formed between the optical axis and visu;
axis at the nodal point is

(a) Angle alpha (b) Angle Beta

(¢) Angle kappa (d) Angle gamma

In listings reduced eye position of the anterio

focal point is mm in front ¢
cornea

(a) 155 (b) 156

(¢} 15.7 (d) 158



17.  Optical aberrations of eye include % SECTION B — (6 % 6 = 30 marks)
(a) Spherical aberration An ALL guestions
swer .

(t) Chromatic aberration
" 21. (a) Write short notes on Neutons corpusenlar

(¢} Oblique aberration thau%Q

(d) ALL of the above
c\“’nta ghort notes on Huygens wave theory

of the retina in \ Briefly describe laser of refrattion with diagram

18, Parallel rays of light are brought to focus in front @
Q Or

(a) Myopia ) 6@\

(b) Hypermetopia (b) Explain phenomens of total internal

\ reflection with diagram.

o) Aste tropi g
" o & 93, (a) What are the factors affecting visual acuity.
(d) None of the above 5\9 Or

19:  Gompound sstipmatiam s carves % ( Explain preferential looking test
(a) convex lens cave lens
. § 24. () Briefly describe visual angles of the eye and
(¢)  spherocylinder simple cylinder clinical significance
Or

20. Hypermetropia is corrected by

(a) Concave lens (b) Convex lens (b) Enumerate the six cardinal points of the eye.

fc)  Cylinder {d:'.l None of the above

5 D163 6 D 163



25.

26.

27,

(a)

(b)

{b)

(a)

(b)

Write short notes on spherical aberration in
eye.

Or

Write short notes on ocular chromatic
aberrations,

SECTION C — (5= 10=50 marks)
Answer ALL questions.

Explain briefly various theories describing
the nature of light.

Or

What is LASER? Explain it's\ p
production and applied

Hl:iﬂﬂ}' describe im@( ed by a concave
mirror with appropriate diagrams,

Or

Explain in brief the images formed by a
convex lens with appropriate diagrams.

T ™ige

28. (a)

(b)

(b)
30. (a)

(b)

Explain lists used for measurement of visual
acuity.
Or

the components of visual acuity?
xamples of lists which measure each

Explain the axes and angels of the eye with
c¢linical significance.
Or

Explain the models of schematic eye.

What are optical aberrations? Explain in
detail.

Or

Describe the errors of refraction.
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